
The university 
aggregate is the  

best possible  
outcome from 
 these options

60 

The university aggregate calculation is subject to  
counting restrictions and precluded combinations

Your ATAR is calculated from your university aggregate.

You need 90 subject credits to calculate an aggregate.

30 +

90

10
credit  
TAS*

Recognised 
  Studies**

Flexible Option
The best outcome  from a combination  of approved options  to the value of  30 credits

3 x 20 credit TAS

A valid pair of  

10 credit subjects  

can be counted in lieu  

of a 20 credit TAS

Note!
* One or more may be used

** Maximum 20 credits of Recognised  
Studies can be counted

20
credit  
TAS

½ 20
credit  
TAS*

The ATAR is a rank that tertiary 
institutions use to select students  
for their courses. To get an ATAR  
from your university aggregate,  

SATAC looks at where your aggregate 
sits compared to other students.


